
  । চাকুিরর �িতফল

ঈ�রচ� িবদ�াসাগর

অিত-সংি�� উ�রধম� ��াবলীঃ-(�িত ���র উ�র মান ◌ঃ ১)

১/উ�রঃ- িম�সৗির একিট নদীর নাম। এিট আ�মিরকা যু�রা�� অবি�ত ।

২/উঃ- ইউ�রাপীয় বিণকিট িম�সৗির নদীর তীরবত� আিদম অিধবাসী - অধু�িষত রা�জ� ব�বসা কর�ত
িগ�য়িছ�লন ।

৩/উঃ- আিদম অিধবাসীরা ইউ�রাপীয় বিণকিটর কাছ �থ�ক ব�কু ও বা�দ িক�নিছল ।

৪/উঃ- ফরাসী বিণকিট তাঁর বা�দ িবি� কর�ত পারিছ�লন না কারণ এক ইউ�রাপীয় বিণকআিদম
আিদবাসী�দর কা�ছ অ�নক �িল ব�কু এবং বা�দ িবি� ক�রিছ�লন।

৫/ উঃ- মািট�ত বা�দ পুতঁ�ল কখনই তা �থ�ক চারাগাছ �ব�রায় না বা শস� ফ�ল না।

৬/উঃ- �তারণার পর ধরা প�ড় �হন�া হবার ভ�য় ফরাসী বিণকিট িম�সৗির�ত �য�ত চানিন।

৭/উঃ- ফরাসী বিণকআিদম অিধবাসী�দর ঠিক�য়িছ�লন। তাই আিদম অিধবাসীরা �িত�শাধ �নবার এবং
উিচত িশ�া �দবার বাসনায় তারা ি�তীয় বিণ�কর সব িজিনস �ক�ড় িন�য়িছল।

৮/উঃ- ফরাসী বিণ�কর অংশীদা�রর অব�া হল অিত ক�ন। তাঁর সব িজিনসপ� �খায়া �গল।আরঐ রা�জ�
িচরকা�লর জন� তা�দর ব�বসা ব� হল এবং সব িমিল�য় আ�গ যা লাভ হ�য়িছল, তাঁর চার�ন �িত হল।

সংি�� উ�রধম� ��াবলীঃ- (�িত ���র উ�র মান ◌ঃ ৩)

১/উঃ- এই গ��র নীিতিশ�া হলঃ- চালািকর �ারা �কান মহৎ কাজ হয় না। চালািক কর�ল তার �িতফল
একিদন �প�তই হয়।

২/উঃ - এই গ��র নাম 'চাত� িরর �িতফল '। গ�িট�ত এক ফরাসী বিণক িকভা�ব চাত� ির সাহা�য� আিদম
অিধবাসী�দর কা�ছ বা�দ িবি� ক�রিছ�লন,তা বিণ�ত হ�য়�ছ। এই িবি� পর ফরাসী বিণক �চ�র লাভ হওয়ায়
রীিতমত �লাভ জ��িছল। তাঁর ই�� িছলআবার িম�সৗির যাওয়ার, িক� ভ�য় �সখা�ন �য�ত পার�লন না । তাঁর
পিরব�ত� পাঠা�লন িন�জর এক অংশীদার�ক।আিদম অিধবাসীরা তাঁর পিরচয় �জ�ন �ফ�ল এবং তাঁর সম�
িজিনসপ� �ক�ড় িন�য় যায়। এই ঘটনার পর ফরাসী বিণক িগ�য় নািলশ জানা�লনআিদম অিধবাসী�দর
দলপিতর কা�ছ। ফরাসী বিণক তখন দলপিত�ক জানা�লন, এখানকার জিম�ত ঐ বা��দ শস� বল�ব না।
একথা ��ন দলপিত �ু� হ�য় ঐ ফরাসী বিণক�ক রাজ� �ছ�ড় চ�ল �য�ত বল�লন। এইভা�বইআ�গ যত লাভ
হ�য়িছল এবার তার চার�ন �িত হল। তাই গ�িটর নামকরণ খুবই উপযু� হ�য়�ছ।

৩/ উঃ- এক ফরাসী বিণক তার �চ�র পিরমা�ণ বা�দ িবি� করার জন� আিদম অিধবাসী�দর�ক এ কথা
ব�লিছ�লন। বা�দ এক ধর�নর শস�- এই িমথ�া কথা ব�লআিদম অিধবাসী�দর কা�ছ িতিন বা�দ িবি�
ক�রিছ�লন।এটা িছল এক ধর�নর �তারণা।

এখা�ন বা��দর কথা বলা হ�য়�ছ।



ব�া আিদম অিধবাসী�দর ঐ বা�দ জিম�ত পুঁ�ত িদ�ত ব�লিছ�লন।

৪/উঃ-এক ফরাসী বিণকআিদম অিধবাসী�দর স�� চাত� ির ক�রিছ�লন।

িম�সৗির আ�মিরকা যু�রা��র একিট নদী।

আিদম অিধবাসীরা �য তাঁর চালািক ধ�র �ফল�ব একথা ফরাসী বিণক বুঝ�ত �প�রিছ�লন।তারা তাঁ�ক হা�ত
�প�ল নানাভা�ব �হন�া কর�ব,এই ভ�য়ই িতিন আর ওখা�ন �য�ত সাহস পানিন।

৫/উঃ- আিদম অিধবাসী�দর দলপিত ফরাসী বিণ�কর অংশীদার আর এক ফরাসী বিণক�ক একথা ব�লিছ�লন।
আিদম অিধবাসীরা যখন তাঁর সব িজিনসপ� �ক�ড় িন�য়িছল, তখন িতিন দলপিতর কা�ছ িগ�য় তাঁর �জা�দর
না�ম লু�ন ও বল��য়া�গর অিভ�যাগ ক�রিছ�লন। তখন বিণ�করআ�� ক�র দলপিত একথা ব�লিছ�লন।

দলপিত ফরাসী বিণক�ক বল�লন, তাঁর �জারা তাঁর িজিনসপ� �জার ক�র �ক�ড় িন�য় অন�ায় কাজ ক�র�ছ
এবং িতিন ঐ অপ�ত িজিনসপ� �িলর যথাযথ মলূ� িন�য়ই পা�বন, িক� এজন� তাঁ�ক িকছ� িদন অ�প�া
কর�ত হ�ব। তাঁর �জারা এক ফরাসী বিণ�কর কাছ �থ�ক �কনা বা�দ জিম�ত পুঁত�ল ঐ বা�দ �থ�ক শস�
হ�ব। িতিন তাড়াতািড় বল�লন, এ�দ�শর মািট �তমন নয় ,তাই ঐ বা�দ �থ�ক শস� পাওয়া যা�ব না।এ কথা ��ন
দলপিত �ু� হ�য় ঐ ফরাসী বিণক�ক তাঁর রাজ� �থ�ক �বির�য় �য�ত বল�লন। এভা�ব বিণ�কর চাত� িরর িবচার
স�� হল।

৬/উঃ- '�সবার ' বল�ত ফরাসী বিণক চালািকর �ারা ' বা�দ মািট�ত পুঁত�ল শস� ফ�ল ' ব�লআিদম
অিধবাসী�দর কা�ছ বা�দ িবি� ক�রিছ�লন, তার কথা বলা হ�য়�ছ।

�সবার বা�দ িবি� ক�র �চ�র লাভ হ�য়িছল। িক� এবার তার চার�ন �লাকসান হল।

রচনাধম� ��াবলী ◌ঃ- ( �িত �

��র উ�র মান ◌ঃ ৮)

১/উঃ- এখা�ন জিম�ত বা�দ চাষ ক�র চারাগাছ �ব�রা�নার কথা বলা হ�য়�ছ।

এক চত�র ফরাসী বিণকআ�মিরকার িম�সৗির রা�জ� �চ�র পিরমা�ণ বা�দ িন�য় িগ�য়িছ�লন, িক� ও�দর কা�ছ
�চ�র বা�দ থাকায় ঐ বিণ�কর কাছ �থ�ক তারা নত�ন বা�দ িকন�ত চাইল না। বা�দ িবি�র জন� তখন
ফরাসী বিণক চালািকরআ�য় িন�লন। িতিনআিদম অিধবাসী�দর কথা �স�� জানা�লন, বা�দ তাঁ�দর �দ�শ
এক ধর�নর শস�িব�শষ।

ফরাসী বিণক�কর কাছ �থ�ক বা�দ স��� ঐ কথা ��নআিদম অিধবাসীরা �ত গিত�ত তাঁর কাছ �থ�ক সব
বা�দ িক�ন িনল। িনিদ�� সময় এ�ল তারা ঐ বা�দ মািট�ত পুঁ�ত �ফলল। িক� বা�দ �থ�ক চারাগাছ �ব�রা�নার
অস�ব।

২/উঃ- �য চত�র ফরাসী বিণক চালািক ক�র আিদম অিধবাসী�দর কা�ছ বা�দ িবি� ক�রিছল, তার অংশীদার
আর এক ফরাসী বিণকআিদম অিধবাসী�দর দলপিত�ক একথা ব�লিছ�লন।

�য আিদম অিধবাসীরা তাঁর িজিনসপ� �জার ক�র ত� �ল িন�য় িগ�য়িছল, তা�দর শাসন করার কথা এখা�ন বলা
হ�য়�ছ।

আিদম অিধবাসীরা বুঝ�ত �প�রিছল, এই ফরাসী বিণকিট আ�গর �তারক ব�বসািয়ক অংশীদার। তাই আিদম
অিধবাসীরা তা�দর দলপিত�ক সব কথা জািন�য়িছল। তাঁর অনমুিত িন�য় তারা বিণ�কর সাজা�না �দাকা�নর



কা�ছ এল এবং মহু� �ত� র ম�ধ� সব িজিনস �জার ক�র �ক�ড় িন�য় িন�জর বািড়�ত িফ�র �গল।

ব�া এই ঘটনার প�র দলপিতর কা�ছ িগ�য় অিভ�যাগ কর�লন। িতিন বল�লন,তারা িবিনম�য় �কা�না িজিনস না
িদ�য় �জার ক�র তাঁর সব িজিনস িন�য় �গ�ছ।দলপিত এসব �দাষী ব�ি��দর শাি� িদন এবং তাঁর ন�ায� �াপ�
পাই�য় িদন।

অিধপিত ফরাসী বিণ�কর অিভ�যাগ ��ন তাঁ�কআ�� কর�লন, িতিন ন�ায� িবচারই কর�বন এবং তাঁর �াপ�
পাই�য় �দ�বন।এক ফরাসী বিণ�কর পরামশ�মত তাঁর �জারা মািট�ত বা�দ পঁ�ত�ছ। িতিন তাড়াতািড় বল�লন,
তা�দর �দ�শর মািট�ত বা�দ পুঁত�ল শস� ফ�ল থা�ক। এ�দ�শর মািট ভা�লা নয়,তাই এখা�ন বা�দ পুঁত�ল শস�
জ�া�নার স�াবনা �নই। একথা ��ন দলপিত অত�� �ু� হ�লন। িতিন তখুিন বিণ�কর তাঁর রাজ� �ছ�ড় চ�ল
�য�ত বল�লন। তাই �সবার চাত� ির�ত তাঁ�দর যত লাভ হ�য়িছল, এবার তার চার�ন �বিশ �িত হ�য়�ছ এবং
িচরকা�লর জন� এখা�ন ব�বসার পথ �� হ�য় �গল।

৩/ উঃ- ফরাসী বিণকিট �চ�র পিরমা�ণ বা�দ িন�য় আিদম অিধবাসী�দর �দ�শ ব�বসা কর�ত এ�সিছল। িক�
�স �দ�শর �লা�করা তার আ�গইআর এক ব�বসায়ীর কাছ �থ�ক �চ�র ব�কু ও বা�দ িক�নিছল। �সই বা�দ
তা�দর কা�ছ তখনও য�থ� পিরমা�ণ িছল। ফরাসী বিণকিট চালািকরআ�য় িন�য় ওখা�ন �লাক�দর বল�লন,
বা�দ তাঁর �দ�শ এক ধর�নর শস� - বছ�রর একিট িনিদ�� সম�য় তা মািট�ত পুঁ�ত িদ�ল অন�ান� বী�জর মত তা
যথাসম�য় ফল �দান ক�র । একথা �শানার পরআিদম অিধবাসীরা অন� ��ব�র িবিনম�য় ঐ বিণ�কর কাছ
�থ�ক সব বা�দ িক�ন িনল। এভা�ব তারা �তািরত হল।

এই �তারণার ফল �স িকছ� িদ�নর ম�ধ� �পল।আবার লাভ করার আশায় �স তার এক অংশীদা�রর �গাপ�ন ঐ
�দ�শ ব�বসার জন� পাঠাল।আিদম অিধবাসীরা তাঁর �কৃত পিরচয় জান�ত পারল এবং তার সব িজিনসপ�
�ক�ড় িনল। বিণকিট এ িন�য় তা�দর দলপিতর কা�ছ অিভ�যাগ �পশ করল, িক� তা�ত িকছ�ই ফল হল না।আ�গ
যা লাভ হ�য়িছল, এবার তার চার�ন �িত হল। এভা�ব �তারণার ফল �স �পল।

৪/উঃ- রচনাধম� ২ নং ���র উ�র িলখ।

৫/উঃ- উি�িট চত�র এক ফরাসী বিণ�কর অংশীদা�রর।

চাত� িরর পিরণা�ম আিদম অিধবাসী�দর দলপিত যখন তাঁ�ক িনজ রাজ� �থ�ক বিহ�� ত কর�লন, যখনআ�গর
লা�ভর �চ�য় চার�ন �িত হল এবং িচরকা�লর জন� এই �দ�শ ব�বসার পথ �� হ�য় �গল।

আ�মিরকা যু�রা��র িম�সৗির নদীর তীরবত� অ��ল বসবাসকারী আিদম অিধবাসী�দর কথা এখা�ন বলা
হ�য়�ছ।

আিদম অিধবাসী�দর সরলতা এবং অ�তার সু�যাগ িন�য় পূব�বত� ফরাসী বিণক তা�দর বুিঝ�য়িছ�লন, তা�দর
�দ�শর বা�দ মািট�ত পুঁত�ল শস� হয়। িক� প�র �সই বা�দ মািট�ত পুঁ�ত দীঘ�িদন অ�প�া ক�রও তা �থ�ক
�কান চারাগাছ �ব�রা�ত �দখল না। তখন তারা বুঝল ,ঐফরাসী বিণক তা�দর �তারণা ক�র�ছন।

ব�া ঐ বিণ�কর �তারণার ফল অিচ�রই �প�লন।আিদম অিধবাসীরা তাঁর সব িজিনস �ক�ড় িনল, দলপিতর
কা�ছ িবচার চাই�ত িগ�য় িতিন �ত�াখ�ান হ�লন, তারপর �ু� দলপিত হ�য় তাঁ�ক িনজ রাজ� �থ�ক বিহ�� ত
কর�লন।

এই ঘটনা �থ�ক ফরাসী বিণক �য নীিত িশ�ািট �প�লন তা হল ◌ঃ এই চালািকর �ারা �কান মহৎ কাজ হয় না
এবং �কান এক সময় ঐ চাত� িরর পিরণাম �ভাগ কর�ত হয়।

৬/উঃ- ঈশ�পর নীিতগ� �থ�ক �শয়াল এবং সার�সর গ�িট এ �স�� বল�ত পার। সূ� ◌ঃ �শয়াল সারস�ক



�খ�ত িনম�ণ করল - থালায় মাং�সর �ঝাল �র�খ িন�জআন�� �চ�ট �খ�ত লাগল, ল�া �ঠাঁট থাকায় সারস
�খ�ত পার�ল না -- পা�য়স �রঁ�ধ ল�া কঁু�জা�ত �ঢ�ল িনল এবং িন�জ মজা ক�র �খ�ত লাগল, �শয়াল িকছ�ই
�খ�ত পারল না।

*�নব��ি�ক ও ব�াকরণগত ��াবলী * ( �িতিট �ু� অং�শর মানষু ◌ঃ ১)

১/ অথ� ◌ঃ-- তাদশৃ = �সই রকম। কুিপত = �ু� । ��ান= চ�ল যাওয়া । চাত� ির = চালািক । িবিনময়ল� = এক
িজিন�সর স��আর এক িজিন�সর িবিনম�য় যা পাওয়া যায়। হতবুি� = িকংকত� ব�িবমঢ়ূ ।অবতীণ� = নামা ।
মৃগয়া= প� িশকার ।

২/ সি� িব��দ ◌ঃ-- �ব�াল�য় = �ব� + আলয় । ত�শ��ন = তৎ + দশ��ন ।অন�ায়াচরণ = অন�ায় + আচরণ ।
িকি�ৎ = িকম্ + িচৎ ।যথাথ� = যথা + অথ� । পয�� = পির + অ�। চত�� �ণ = চত�ঃ + �ণ।

৩/ পদ পিরবত� ন ◌ঃ-- বপন = উ�।অিধকার= অিধকৃত । �� = �রাধ । ��রণ= ��িরত।অবতীণ� = অবতরণ।
উপি�ত = উপি�িত। চমৎকৃত= চমৎকার। িনঃ�শিষত = িনঃ�শষ।

৪/িবপরীত শ� ◌ঃ--- উপি�ত= অনপুি�ত।অিধকার = অনিধকার।আবশ�ক = অনাবশ�ক। িনঃ�শিষত = পূণ� ।
��ান = ��বশ । ন�ায� = অন�ায�।�গাপন= �কাশ� । স�ত= অস�ত । লাভ = �িত ।
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Question 1: 
Other than providing energy to our body, what else is food needed for? 

ANSWER: 
In addition to providing energy to the body, food is required for the following functions: 
 
1. It is needed by the body to perform growth and replacement of worn out cells. 
 
2. It also helps in the protection of body from infections and maintenance of a healthy 
state. 

Question 2: 
The skeleton of an animal found during excavations showed that it had broad and sharp 
teeth in front, and flat teeth at the back. What kind of food do you think the animal ate? 

ANSWER: 
The animal that have broad and sharp teeth in the front and flat teeth at the back are 
herbivores. These organisms feed on plants and some of the examples of herbivores are 
cow, horse and deer. Thus, the animal in the given case would have fed on plant 
materials. 

Question 3: 
Can a food chain start from an animal? Give reasons. 

ANSWER: 
A food chain can not start with an animal. This is because every food chain requires 
certain organisms that have the ability to produce their own food. In most of of the food 
chains, the food is produced by green plants. An animal can not produce its own food and 
thus, a food chain can not start with an animal. 
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Question 4: 
We make our own food in the kitchen, and hence we are producers. True or false? Give 
reasons. 

ANSWER: 
The given statement is false. This is because the food that we cook in the kitchens is 
originally prepared by the plants. A producer is an organism that has the ability to produce 
its food from non-living materials such as carbon dioxide, sunlight and water. Thus, we 
are not producers. 
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Question 1: 
Which of these is obtained from plants? 
(a) honey 
(b) curd 
(c) rice 
(d) egg 

ANSWER: 
(c) rice 
 

 
 
 



2 

 

 
 

Question 2: 
Which of these is obtained from animals? 
(a) pulses 
(b) cheese 
(c) cereals 
(d) sugar 

ANSWER: 
(b) Cheese 

Question 3: 
Which of these food ingredients do we not get from plants or animals? 
(a) salt 
(b) honey 
(c) milk 
(d) wheat 

ANSWER: 
(a) Salt 
Salt is obtained neither from animals nor from plants. Salt is either obtained by 
evaporating sea water or it is mined from salt mines. 
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Question 4: 
The first link in all food chains is 
(a) herbivores. 
(b) carnivores. 
(c) plants. 
(d) omnivores. 

ANSWER: 
(c) Plants 
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Question 5: 
Which of these eats food digested by other animals? 
(a) a cow 
(b) a lion 
(c) a cockroach 
(d) a tapeworm 

ANSWER: 
(d) a tapeworm 
Parasites eat food that is already digested by the host. The tapeworm is an intestinal 
parasite affecting human beings. Tapeworm infections are caused most commonly by the 
consumption of under cooked meat, fish or poultry. 

 

Question 6: 
Which of these animals does have teeth? 
(a) snake 
(b) eagle 
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(c) mosquito 
(d) tapeworm 

ANSWER: 
(a) Snake 
Snakes have teeth while eagles, mosquitoes and tapeworms do not. All snakes, whether 
venomous or non-venomous, have teeth to help them hold down and swallow prey. In 
venomous snakes, there are modified teeth used to inject venom, known as fangs. 

Question 1: 
Name one stem that has food stored in it. 

ANSWER: 
Potato is an example of a stem that has food stored in it. 

Question 2: 
Are humans herbivores, carnivores or omnivores? 

ANSWER: 
Humans are omnivores as they consume both plant and animal products. 

Question 3: 
Some animals usually eat the dead bodies of other animals. What are they called? 

ANSWER: 
Animals that feed upon dead bodies of other animals are known as scavengers. 

Question 4: 
Some food chains end at herbivores. True or false? 

ANSWER: 
True. In case of herbivores with no natural predators, the food chain ends at the 
herbivore. 

Question 5: 
The chemical substances in food that your body needs are called 

ANSWER: 
The chemical substances in food that your body needs are called nutrients. 

Question 6: 
Do all living things eat the same kind of food? 

ANSWER: 
No, all living things do not eat the same kind of food. 

Question 1: 
Name the sources from where we get the ingredients used in food. 

ANSWER: 
Following are the sources from where we get the ingredients used in food: 
(i) Plants 
(ii) Animals 
(iii) Earth 

Question 2: 
Why are green plants known as producers? 

ANSWER: 
Green plants use sunlight and carbon dioxide from the atmosphere to produce 
carbohydrates by the process of photosynthesis. Since, plants produce food for 
themselves, they are known as producers. 

Question 3: 
Name three plants and their parts that we eat. 
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ANSWER: 
Example of edible plants are: 

1. Banana: The fruit is edible. The centre of stem is also eaten. Less commonly, the 
flowers of the banana tree is also used as food. 

2. Carrot: It is the root of the carrot plant. 
3. Rice: The grains of rice that are eaten are the seeds of the rice plant. 

 
Question 4: 
In what way is a scavenger useful to the environment? 

ANSWER: 
Scavenger consumes dead organisms and prevent them from accumulating in the 
environment, which may lead to the outbreak of diseases. Therefore, scavengers keep 
the environment clean. For example, termites consume the remains of dead plants, while 
vultures consume dead animals. 

Question 5: 
Why does a mosquito not have teeth? 

ANSWER: 
Mosquitoes rely upon a liquid diet of either sap or nectar from plants (male mosquitoes) or 
blood (female mosquitoes carrying eggs). Since mosquitoes do not consume solids, they 
do not have teeth. 

Question 6: 
We get our food items from plants and animals. Do you agree? Give reasons. 

ANSWER: 
Yes, I agree that we get our food items from plants and animals. All the foods that we eat 
are either derived from plants such as fruits, grains, vegetables, nuts etc., or they are 
derived from animals such as meat, poultry, fish, eggs, milk, cheese butter etc. 
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Question 1: 
How is honey made? 

ANSWER: 
Following are the steps involved in producing honey are: 

1. Field bees, fly out from the honeycomb to find flowers and blossoms. They fly from 
flower to flower and suck out the nectar using their specially adapted tongues. 
Nectar is stored in special sacs in their bodies. 

2. Once the field bees return to the honeycomb, the nectar they bring back is eaten by 
house bees, which add enzymes from their bodies to the nectar that turns the 
nectar into honey. 

3. The house bees then regurgitate (remove from their bodies by spitting out through 
their mouths) the honey, which is stored in the cells of the honeycomb. 

Question 2: 
Explain the difference between herbivores, carnivores and omnivores. 

ANSWER: 
The difference between herbivores, carnivores and omnivores are as follows: 
  

Herbivore Carnivore   Omnivore 

Herbivorous animals  feed 

on plants. 

Carnivorous animals eat the flesh of 

other animals. 

An omnivorous animal can eat both 

plants and also other animals. 
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Herbivorous animals have 

sharp cutting teeth in front 

of their mouths and flat 

grinding teeth at the rear of 

their mouths 

Carnivorous animals have well 

developed sharp teeth, known as 

canines to help tear the flesh of prey. 

Carnivorous animals also have claws 

to hold on to prey. 

Omnivorous animals have teeth in 

between that of herbivores and 

carnivores. They have sharp teeth to 

tear meat, but also posses flat 

grinding teeth to crush plants. 

Examples of herbivores 

include cows, goats, 

buffaloes, deer, zebra etc. 

Examples of carnivores include lions, 

tigers, eagles, leopards etc. 

Examples of omnivores include 

humans, pigs, bears etc. 

 
 

Question 3: 
What are the functions of food? 

ANSWER: 
The main functions of food are as follows: 

1. Food is a source of energy to the body. When we work with our bodies and perform 
activities like thinking, running, walking, jumping etc., we use the energy obtained 
from food. 

2. The nutrients contained in food help the body grow and also repair itself by 
replacing dead and worn out cells. 

3. The nutrients contained in food also help the body's immune system to safeguards 
the body against various diseases. 
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Question 4: 
What is a food chain? Explain with an example. 

ANSWER: 
A food chain is a sequence that shows how each living organism gets its food in a 
particular environment. 
Example: 
 

Plants→→grasshopper →→shrew →→owl 

1. In the food chain shown, plants prepare food from sunlight, using carbon dioxide 
from the air by the process of photosynthesis. Since, the plant produces its own 
food, it is a producer. 

2. The grasshopper eats the plants as food to get energy. It is therefore classified as a 
primary consumer. 

3. A secondary consumer such as a shrew eats the grasshopper. As a result, a shrew 
lies one level above the grasshopper in the food chain. 

4. The shrew in turn is food for a tertiary consumer such as an owl. In the example 
shown, the owl is at the uppermost level of the food chain. 
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Question 5: 
How are the teeth of carnivores different from those of herbivores? 

ANSWER: 
Carnivorous animals eat the flesh of other animals, while herbivorous animals eat 
plants. The teeth of carnivorous animals are adapted to tearing flesh and are usually long 
and sharp that serve an added function of puncturing vital organs and killing the prey. 
The teeth of herbivorous animals are adapted to cutting and tearing leaves from plants 
and then crushing them. Therefore, herbivores have sharp front teeth to enable them to 
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cut leaves and flat teeth at the rear of their mouth to enable them to crush the leaves or 
other plant material that is usually quite tough and fibrous. 
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Question 6: 
What are parasites? Explain giving two examples. 

ANSWER: 
Parasites are organisms that depend upon other organisms for their food. The organism 
that a parasite depends upon for food is known as the host. The parasite is usually 
harmful to the health of the host and can even kill the host. Some examples of parasites 
are: 

1. The Cuscuta plant is a parasitic plant that grows on other plants and inserts its root 
like projections known as haustoria into the host plant to suck out nutrients from the 
host plant. The Cuscuta plant does not have well developed leaves and relies 
mostly upon its host for obtaining food. 

2. Mosquitoes, leeches and bed bugs are examples of parasites that survive on blood 
that they suck from humans and other animals. Since, these parasites live outside 
the body of the host, they are called ecto-parasites. 
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Question 1: 
Both carnivores and parasites depend on other animals for food. In what way is a 
carnivore different from a parasite? 

ANSWER: 
  

Differences between carnivores and parasites 

Carnivores   Parasites 

Carnivores kill their prey to consume 

them. 

Parasites may kill their hosts slowly by 

weakening them. In general however, 

parasites need not kill their hosts.   

Carnivores generally do not cause 

diseases in their prey. 
Parasites may cause diseases in their hosts. 

Carnivores are always external to their 

prey. 

Parasites may be inside their hosts 

(endoparasites) or outside their host 

(ectoparasites). 

Carnivores can be larger or smaller 

than their prey.   

Parasites are generally much smaller than 

their hosts. 

Carnivores reproduce very slowly 

compared to their prey. 

Parasites reproduce very rapidly compared to 

their prey. 

Examples of carnivores include, lions, 

tigers, leopards, eagles etc.  

Examples of endoparasites are: intestinal 

worms such as Ascaris, tapeworm, 

ringworm, etc. Examples of ectoparasites are 

mosquitoes, bed bugs, leeches, etc. 
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Question 2: 
Humans eat both plants and animals. Which teeth in humans are suitable for tearing 
flesh? 

ANSWER: 
Humans are omnivores and eat both plant and animal derived foods. Humans have 
canine teeth that are suitable for tearing flesh. However, canines are not well developed in 
humans as they are in carnivorous animals such as lions or tigers. 



7 

 

Page No 10: 

Question 3: 
A food chain consists of several organisms. Suppose one of the organisms in the chain 
disappears. What effect can this have on the other organisms in the food chain? 

ANSWER: 
If one of the organisms in the food chain disappears, then the entire food chain will 
collapse as the flow of the nutrition will get altered and that will eventually cause death of 
other organisms of that food chain that are at higher levels. 
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Question 1: 
You have read about food chains in this chapter. Each living thing is a part of multiple 
food chains – for example, grass is a part of the food chain: grass → grasshopper → frog 
→ snake → eagle, and also of the food chain: grass → deer → tiger. 
All of the interconnected and overlapping food chains in a habitat make up a food web. 
 

 
 
See the given food web and answer these questions. 
1. From the food web, construct two different food chains, each with four links. 
2. If all the eagles were killed, what would happen to the number of 
a. squirrels? 
b. earthworms? 

ANSWER: 
1. Food chain I - 
 
Roots →Earthworms→Sparrows →Eagles 
 
Food chain II - 
 
Berries →Flies →Frog →Eagles 
 
2. Eagles keep a check on the population of squirrels. If all the eagles are killed, the 
population of squirrels would increase tremendously. An increase in the population of 
squirrels mean large scale destruction of nuts, the products on which they primarily feed 
on. 
 
Eagles also feed on sparrows and keep a check on their population as well. Killing of 
eagles means, increased population of sparrows. As, the population of sparrows would 
increase, so will their demand for food. They feed on earthworms and large scale 
consumption of these may result in the extinction of earthworms. Also, earthworms are 
called a farmer's friend. In their absence, the agriculture would also be affected. 
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Question 1: 
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In 1965, Prime Minister Lal Bahadur Shastri gave a simple slogan to the people of India –
 Jai Jawan Jai Kisan (Hail the farmer, hail the soldier). 
What value does this slogan show? Which other people in your life would you like to pay a 
similar tribute to? 

ANSWER: 
The slogan reminds us, that we should always value the contribution of a farmer and 
soldier. It emphasis on the fact that our existence is owed to these people.  
The other people in our life whom we can pay a similar tribute are our parents and 
teachers. They are the guiding lights who help us to understand the value of everything in 
our life.  
 



Notre Dame holy Cross high school moharpara 

Class vi D subject mathematics 

Chapter  1  Number System 

Exercise   1 A 

1. Write the numeral for each of the following numbers. 

i.  9,018  ii. 54,073. iii. 3,02,506  iv.  20,10,008  v.  6,5,00,057 

2. Write each of the following numbers in words. 

i.  Sixty three thousand five 

ii.  Seven lakh seven thousand seventy five 

iii.  Thirty four lakh twenty thousand nineteen  

iv.  Three crore five lakh nine thousand twelve 

3. Write each of the following numbers in expanded form. 

i. 15,768 =  1 x 10,000 + 5 x 1000 + 7 x 100 + 6 x 10 + 8 x 1 

ii. 3,08,927  =  3 x 1,00,00 + 0 x 10,000 + 8 x 1000 + 9 x 100 + 2 x 10 + 7 x 1 

iii. 24,05,609 =  2 x 10,00,000 + 4 x 1,00,000 + 0 x 10,000 + 5 x 1000 + 6 x 100 + 0 x 10 + 9 x 1 

iv. 5,36,18,493 =  5 x 1,00,00,000 + 36 x 10,00,000 + 18 x 10,000 + 4 x 100 + 9 x 10 + 3 x 1 

4. Write the corresponding numeral for each of the following. 

i.  62,584 

ii.  5,81,623 

iii.  2,05,07,905 

5. Places value of two 9 =  9 x 10,00,000 =  90,00,000 and  9 x 100 =  900 

       Difference between them =  90,00,000 - 900 =  89,99,100 

7. Largest 6 digits numbers =  999999 and smallest 6 digits number =  100000 

Difference between them =  999999-100000 =  8,99,999+1 =  9,00,000 

8. Largest 7 digits number =  9999999 and smallest digits number =  1000000 

Difference between them =  9999999 - 1000000 = 89,99,999 + 1 =  90,00,000 

 



Class-VI

ENGLISH-II
CHAPTER-1
THE  SENTENCE.

EXERCISE-1.
Speak out sentences using the the following phrases:(only answer)

1. We lost the match because of our poor fielding.
2. Children are not safe to go across the street.
3. They have been living in this house since 2008.
4. I want to go outside to buy some stationary.
5.  The annual sports program was done in the school playground which is behind the school
building.
6. That task was almost impossible for everyone.
7. Our teacher told us  to do the sum slowly and quietly.
8. She gave us a farewell with  a great love and care.
9.  you should have  consulted before taking any important decision.
10. The flight  is going above the clouds.

EXERCISE-3
Write  As for assertive,  In for interrogative, Im for imperative and Ex for exclamatory sentences:

1. What a great playwright Shakespeare was!
Ans-EX.
2. Have you read Shakespeare's As You Like lt?
Ans-IN.
3. It is one of the great comedies written by him.
Ans-AS.
4.  Tell me the story of the play  in brief.
And-IM.
5. How can we lower pollution levels?
Ans-IN.
6.  Stop burning piles of harvested crop.
Ans-IM.
7. Look at the rainbow stretching across the sky.
Ans-IM
8. How colourful it looks!
Ans-EX.

EXERCISE-4
Rewrite  the following groups of words as sentences. The kind of sentence to be formed is
mentioned in the brackets. The first  word of the sentence is underlined.(only answer)

1. Edison's inventions include the gramophone and the electric lamp.
2. He invented the gramophone at the age of thirty-one only.
3. Later he invented the electric bulb also.



4. One of his first jobs was to improve the telephone  invented by Graham Bell.
5. A company called western union paid him 100,000 dollars for it.
6. He had to carry out six thousand tests to make a good electric bulb.
7. How much patience it must have needed!
8. Try to get inspiration from the life of Edison.

Dear students,I have replaced Exercise-3 instead of Exercise-2.so you don't need to study
Exercise-2.



Chapter-1(SOURCES OF FOOD)  

A. Choose the most appropriate answer.  

1.c 2.b 3.a 4.c 5.d 6.a 

B. Very short answer questions:- 

1.potato 2.omnivores 3.scavengers 4.true 5.nutrients 6.no 

C. Short answer questions.  

1.Following are the sources from where we get the ingredients used in food: 

(i) Plants 

(ii) Animals 

(iii) Earth 

2.Green plants use sunlight and carbon dioxide from the atmosphere to produce 

carbohydrates by the process of photosynthesis. Since, plants produce food for themselves, 

they are known as producers. 

3.Example of edible plants are: 

 Banana: The fruit is edible. The centre of stem is also eaten. Less commonly, the 

flowers of the      banana tree is also used as food. 

 Carrot: It is the root of the carrot plant. 

 Rice: The grains of rice that are eaten are the seeds of the rice plant. 

4.Scavenger consumes dead organisms and prevent them from accumulating in the 

environment, which may lead to the outbreak of diseases. Therefore, scavengers keep the 

environment clean. For example, termites consume the remains of dead plants, while vultures 

consume dead animals. 

5.Mosquitoes rely upon a liquid diet of either sap or nectar from plants (male mosquitoes) or 

blood (female mosquitoes carrying eggs). Since mosquitoes do not consume solids, they do 

not have teeth. 

6.Yes, I agree that we get our food items from plants and animals. All the foods that we eat 

are either derived from plants such as fruits, grains, vegetables, nuts etc., or they are derived 

from animals such as meat, poultry, fish, eggs, milk, cheese butter etc. 

D. Long answer questions.  

1.Following are the steps involved in producing honey are: 

 Field bees, fly out from the honeycomb to find flowers and blossoms. They fly from 

flower to flower and suck out the nectar using their specially adapted tongues. Nectar 

is stored in special sacs in their bodies. 



 Once the field bees return to the honeycomb, the nectar they bring back is eaten by 

house bees, which add enzymes from their bodies to the nectar that turns the nectar 

into honey. 

 The house bees then regurgitate (remove from their bodies by spitting out through 

their mouths) the honey, which is stored in the cells of the honeycomb. 

2. 

     Herbivores  Carnivores Omnivores 

1.Herbivorous animals  feed 

on plants. 

1.Carnivorous animals eat the 

flesh of other animals. 

1.An omnivorous animal can 

eat both plants and also other 

animals. 

2.Herbivorous animals have 

sharp cutting teeth in front of 

their mouths and flat grinding 

teeth at the rear of their 

mouths 

2.Carnivorous animals have 

well developed sharp teeth, 

known as canines to help tear 

the flesh of prey. Carnivorous 

animals also have claws to 

hold on to prey. 

2.Omnivorous animals have 

teeth in between that of 

herbivores and carnivores. 

They have sharp teeth to tear 

meat, but also posses flat 

grinding teeth to crush plants. 

3.Examples of herbivores 

include cows, goats, 

buffaloes, deer, zebra etc. 

3.Examples of carnivores 

include lions, tigers, eagles, 

leopards etc. 

3.Examples of omnivores 

include humans, pigs, bears 

etc. 

3.The main functions of food are as follows: 

 Food is a source of energy to the body. When we work with our bodies and perform 

activities like thinking, running, walking, jumping etc., we use the energy obtained 

from food. 

 The nutrients contained in food help the body grow and also repair itself by replacing 

dead and worn out cells. 

 The nutrients contained in food also help the body’s immune system to safeguards 
the body against various diseases. 

4.A food chain is a sequence that shows how each living organism gets its food in a 

particular environment. 

Example: Plants→→grasshopper →→shrew →→owl 

 In the food chain shown, plants prepare food from sunlight, using carbon dioxide from 

the air by the process of photosynthesis. Since, the plant produces its own food, it is a 

producer. 

 The grasshopper eats the plants as food to get energy. It is therefore classified as a 

primary consumer. 

 A secondary consumer such as a shrew eats the grasshopper. As a result, a shrew lies one 

level above the grasshopper in the food chain. 

 The shrew in turn is food for a tertiary consumer such as an owl. In the example shown, 

the owl is at the uppermost level of the food chain. 



5.Carnivorous animals eat the flesh of other animals, while herbivorous animals eat plants. 

The teeth of carnivorous animals are adapted to tearing flesh and are usually long and sharp 

that serve an added function of puncturing vital organs and killing the prey. 

The teeth of herbivorous animals are adapted to cutting and tearing leaves from plants and 

then crushing them. Therefore, herbivores have sharp front teeth to enable them to cut leaves 

and flat teeth at the rear of their mouth to enable them to crush the leaves or other plant 

material that is usually quite tough and fibrous. 

6.Parasites are organisms that depend upon other organisms for their food. The organism that 

a parasite depends upon for food is known as the host. The parasite is usually harmful to the 

health of the host and can even kill the host. Some examples of parasites are: 

 The Cuscuta plant is a parasitic plant that grows on other plants and inserts its root 

like projections known as haustoria into the host plant to suck out nutrients from the 

host plant. The Cuscuta plant does not have well developed leaves and relies mostly 

upon its host for obtaining food. 

 Mosquitoes, leeches and bed bugs are examples of parasites that survive on blood 

that they suck from humans and other animals. Since, these parasites live outside the 

body of the host, they are called ecto-parasites. 

 













Class -6 

Subject – social studies 

Chapter – I 

Exploring the solar system 

A. Tick the correct answer . 

1. A. ceres 

2. B. orbit  

3. A. ceres 

4. B. moon 

5. C. Jupiter 

6. A. earth 

B. Fill in the blanks. 

1. The Milky way. 

2. Constellation. 

3. Mercury. 

4. Large meteorites. 

5. Red. 

6. Jupiter. 

7. Saturn.  

8. Meteors 

C. Answer the following questions in brief – 

1. A galaxy is a huge collection of gas, dust and billions of stars and their solar system , all held 

by gravity . 

2. A meteorite is a small natural object from interplanetary space – ie. A meteoroid that lands 

on the surface . whereas , A comet is a small body of rock , ice and gas orbiting the sun . 

3. Jupiter gets so many storms because of its fast rotating movement . 

4. A satellite is a small object that orbits , or revolves around a larger object in space . Satellites 

can be natural or artificial. 

5. Mercury is cold at night even though it is so close to the sun because it has no atmosphere 

to trap the heat . 

D. Answer the following in details. 

1. Photograph taken from the space look so colorful because the shade of blue, white and 

green in the photograph of the earth makes it colorful . 

           The water bodies gives a beautiful look of blue color, cloud and natural vegetation 

give the looks of white and green. 

2. Our solar system consist of stars, the sun and everything bound by to it by gravity the 

planets ,dozens of moons and millions of asteroids , comets and meteoroids. 

3. The Earth is the only inner planet in our solar system that has water on its surface .Earth’s 
amazing gaseous atmosphere is responsible for making life possible on this planet.   



4. Difference between stars and planets. 

Stars 

1. Stars are incredibly hot having 

temperatures to them. 

2. Stars produce their own heat and 

light . 

3. The stars change their position , but 

can be seen only after a long time 

due to substantial distance. 

 

Planets 

1. Planets on the other hand have 

relatively low temperatures. 

2. Planets are incapable of producing 

their own light . 

3. Planets orbits on their own axis , 

change their position constantly. 

 

E. Give reasons why. 

1. Life is not at all possible on the moon because it has no oxygen and water which is necessary 

for the survival of the humans . 

        Therefore it is difficult to survive as these are the necessity of any living thing. 

2. Venus is the hottest planet in the solar system because of its dense atmosphere traps heat 

in a runaway of green house effect making the hottest planet in the solar system . 

3. Meteors are often referred to as shooting stars or falling stars because of the bright tail of 

light they create as they pass through the sky. 

 



Subject-Hindi 

पाठ-2(काकी) 
Class -6 (all sections) 

शब्दर्थ: 

1. कुहराम – शोर 

2. करुण- दया भरे 

3. नादान-भोला 
4. रुदन- रोना 
5. उग्र-क्रोधित  

मौधिक   - 

1.सुबह उठकर श्यामू ने क्या देखा ? 

उत्तर  –सुबह उठकर श्यामू ने  यह देखा कक घरभर  में कुहराम मचा हुआ था और उसकी काकी कंबल पर 
नीचे से ऊपर एक कपड़ा ओढ़े ज़मीन  पर  सो रही थी और  सब करुण स्वर में रो रहे थे । 
 

2.उत्तर :- क्योकंक अपनी पत्नी की मृतु्य के बाद वह बहुत   अनमने हो गए थे । 
 

3.उत्तर :- श्यामू  ने चोरी इसकलए ककया क्योकंक वह पतंग  के कलए बहुत बेसब्र हो रहे थे । 
 

लिखित:- 

1.उत्तर:-सत्य यह था कक श्यामू की काकी उसके मामा के यहााँ नही ंगई थी बल्की ऊपर रामा के यहााँ चली 
गई । 

2.उत्तर :-काकी के जाने के बाद श्यामू अपने मन को रोते –रोते तो शांत कर कदया पर शोक शांत न कर 
सका । 

3.उत्तर:- श्यामू अपने काकी से बहुत पे्रम करता था ।वह पतंग को ऊपर रामा के घर भेजकर  उसके काकी 
को नीचे लाने के कलए मोटी रस्सी मंगई और जवाकहर भैया से कागज़ पर ‘काकी’ कलखवाया ताकक ठीक उसका 
पतंग रामा के पास  ही पहुाँच जाए ।  
 

4.कवঽवेঽवर को यह सच्चाई पता चली कक श्यामू उसके पतंग को तानकर अपने काकी को राम के घर से नीचे 
उतारना चाहते थे । 

 

6. From (“ि” से “ङ” )तक  homework 

कथन लकसने कहा लकससे कहा 
(क)”काकी तो सो रही हैं।“ श्यामू ने लोगो ंसे 

(ि)”अच्छा,माँगा दूाँगा।“   

(ग)”मैं यह पतंग राम के घर भेज ूँगा ।“   

(घ)”यह डोर पतली ह।ै“   

(ङ)”उन्होने मंगाई र्ी ।“   
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